L’ Arrondissement (C)
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Arrondissez chaque nombre ci-dessous a la centaine pres.

141 221
682 543
293 9685
3422 5417
7943 5531
53039 60 690
52566 95439
63 447 752 003
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L’ Arrondissement (C) Solutions

550
600

678
700

197
200

9236
9200

2384
2400

95526
95500

21801
21800

38 141
38 100

Arrondissez chaque nombre ci-dessous a la centaine pres.

141 221
100 200
682 543
700 500
293 9685
300 9700
3422 5417
3400 5400
7943 5531
7900 5500
53039 60 690
53000 60700
52566 95439
52600 95400
63 447 752 003
63 400 752 000

550
600

765
800

5144
5100

1075
1 100

3336
3300

94203
94 200

78785
78 800

670322
670 300
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